Answer on Question #83340 — Math — Statistics and Probability

Question

Given that Y~b(y; 4, 0.4), find the probabilities of the following events:
(a) P(Y<2)

(b) P(Y=2)
(c) P(Y>2)
Solution

(a) P(Y<2):
P(Y<2) = Y~b(0; 4, 0.4) + Y~b(1; 4,0.4) = 0,*(:!_0)' 0.4°(1—0.4)*%+
F—= 0.41(1 — 0.4)*1 =0.1296 + 0.3456 = 0.4752

11%(4—1)!
(b) P(Y=2):
P(Y=2) = Y~b(2; 4, 0.4) = z'*(z!—z)' 0.42(1 — 0.4)*72 = 0.3456

(c) P(Y>2)
P (Y>2) =Y~b(3; 4, 0.4) + Y~b(4; 4,0.4) = S 43(1—-0.4)*3 +
S P 3Ik(a-3) '
 _0.4%(1 — 0.4)* % =0.1536 + 0.0256 = 0.1792
41%(4—4)!
Answer:

(a) P(Y<2)=0.4752;
(b) P (Y=2) = 0.3456;

(c) P(Y>2)=0.1792.
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